Name: Date:

Teacher: Class:

Multiplication/Division 507

What sort of music was invented by cavemen? Rock music!

Multiplication and Division

L 18+6= 2. 30+6= - 24+6=
2. 10x7 = 2. 4 x6= 2. 9gxp =
3. 21+7= 23. 7 +7 = 43. 77 =7 =
4 Hx7 = 2. 7 x 6 = 4. 8 x 6=
> 14+7= % 70+7= - 36+6=
6. 1x6= 26. 3x7 = 4. 8 x7 =
“ 60+6= o 28+7= 4 48 +6 =
8 11x7-= 28. 12x6 = 48 11x6=
0 42+7= 29 84+7= 9 66 +6=
10. gx7 = —30. 2 x7 = 50. §x 6=
1. 54 +6= 363+7= °L 35+7=
12. 12 x7 = 2. 2x6= 52. 7 x7 =
13. 79 -6 = 38. 42 -6 = 5. §=6 =
4. 3x@= —34. 1x7 = 54. § x 7 =
1549 +7 = % 12+6= . 84 +7=
16. 4 x7 = 3. 5 xE= 56. 2 x 7 =
7. 5+ 7 = 37. 24 +6 = St 70+ 7 =
18. 10 x 6 = 38. §5x6= 8. 11 x6=
19 18+ 6 = 3 30+6= 59. 72+ 6=
20. 4 x7 = T n 1x6-= 60. 6 x 6=
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18+6=3
10x7 =70
21+7=3
6x7=42
14+7=2
1x6=06

60 +6 = 10
11 x7=77
42 +7=06
9x7=63
54+6=09
12 x 7 = 84
72+6=12
3x6=18
49 +7=17
4 x7=28
56 +7=28
10 x 6 = 60
18+6=3

4 x (=28
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Answer Key

Date:

Teacher:

Class:

Multiplication/Division 507

What sort of music was invented by cavemen? Rock music!

Multiplication and Division

30+6=5

4 x6=24

(=7=1

71 x6 =42

7/0+7=10

3x7=21

28 -7 =4

12x6=72

84 +7 =12

2x (=14

63+7=9

2x6=12

42 -6 =7
1x7=7
12+6=2

5x6=30

24+-6=4

5x6=30

30-6=5
1x6=6
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50.

51.

52.
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54.

55.

56.

57.

58.

59.

60.

24 +-6=4

O9x6=54

7r+=7=11

8 X6 =48

36 +6=06

8 x7 =056

48 +6 =8

11 x6 = 66

66 +6=11

6x6=36

35+7=5

7 x (=49

6+-6=1

S5x7=235

84 +7=12

2x (=14

7/0+7=10

11 x6 = 66

/2+6=12

6x6=36
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